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Math Masters
Grade Two

These reproducible sheets may be used fo increase the speed, accuracy and
fluency of the math skills in Grade Two.

To use these sheets for timed exercises, hand out the papers with the math
questions face down. Put the student’s name on the back. At your signal they turn
the papers over and work as quickly as possible, beginning at the top left question
and working across or down the rows without missing any questions. At two min-
utes, say "Stop!” and have each child draw a yellow hi-lighter over the answers
completed. Put the hi-lighter away. Then give them time to complete the sheet.

Count the number of correct answers in the ftimed section and divide this
score by 2 to find the per/minute score. The students can record or graph the
results. The children can work fo improve their individual scores. Then count the
number of correct answers on the page and multiply by 2 fto find the percent
score. Complete the top of the page and record the scores.
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Rules for addition to 10

Rule 1 - Always begin to add with the largest number.

If the questionis 3+6 =,additas6 +3=.

Rule 2 - Questions adding one are easy. Count on one number.

Rule 3 - Questions adding two are easy, too. Count on two numbers.

Rule 4 - Doubles are easy, too. These are to be memorized. (3 + 3,4 + 4,5 + 5)

Rule 5 - If the numbers are just one apart, double the smaller number and add one.
4+3=3+3+1

How many questions are left? 5+ 3,6 + 3,7 + 3 and 6 + 4. If the student can count on
the 3 steps, that leaves just one question!

Rules for subtraction to 10

There are two ways to consider subtraction - take away and finding the difference. In
most questions, one of these is easier to use than the other. Illustrate this on a number
line.

Rule - If the numbers in the subtraction question are far apart and one number is
small, subtract by taking away that number. If the numbers are close together, sub-
tract by finding the difference between the numbers. For example, it is much easier to
find the difference in 10 - 8 than to say '10 take away 8'.




Math Masters

O+bH=

3+3=

1+5=

2+2=

3+1:=

1+0=

0+0=
5+0 =
2+ 4=
5+0=

1+1=

5+0-=

1+3=

5+1=

2+ 3=
0+0=

2+1=

Name

Addition to 6 1
4+1=_ 4+2=___
3+2=___ 1+1=_
O0+0=__ 2+0=__
3+1=__ 3+2=_
2+4=__ 4+0=__
6+0=__ 2+1=__
O+1=__ 4+1=__
1+3=__ 1+2=
5+1=__ 5+1=_
O+6=__ 2+2=_
2+2=___ 1+1=
1+4=_ 0+2=__
3+0=__ 1+4=_
1+5=__ 4+2=
O+6=__ O+3=__
3+3=__ 2+3=__
O+4=__

__ /minute  ScOre %

50




Math Masters

4+2=
2+3=
1+5=__
2+0=_
2+2=___
1+1-=
3+2=
4+0-=
2+1=_
4+1=
1+2=
0+3=
1+1=_
5+1-=
O+2=__
1+4=__

4 +2 =

Name

Addition to 6 2
4+1=_ O+b=__
3+3=____ 0+0=__
O+4=__ 2+1=
5+1= 2+4=
O+6=__ 5+0=__
2+2=__ 1+1=_
3+1=___ 2+2=_____
2+4= 3+1=_
6+0=__ 1+0=__
O+1=__ 0+0=__
5+1=_ 5+0=
O+6=__ 2+3=___
3+2=__ 3+3=____
0+0=___ 1+5=
1+4=_ 5+0=_
3+0=___ 1+3=__
1+3=__

_/minu’re Score: Yo

50




Addition to 6
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%

50

Score:

/ minute

Name




Addition to 6

Math Masters

%

50

Score:

/ minute

Name




Math Masters

5-4:=

Subtraction to 6

4-4=
6-4-:
6-6-=
4-3-=
5-2 =
6-5-=

5

/ minute

Score:

50

%o




MC(Th MC(STZI"S Subtraction to 6

5-2=__ 1-0-= 2-2=
6-3= 5-1= 6-1=
5-0= 2-1= 6-6=
2-2-= 6-6= 3-1=
4-1=___ 5-3= 3-3=
4-4=__ 0-0= 5-5=
2-0-= 6- 1= 4-3=
3- 1= 2-1:= 5-2-=
6-6= 4-1= 6-5=
6-2= 5-4= 4-4-=
5-5= 3-2= 6-4-

Score:

Name _____/ minute

50




Subtraction to 6

Math Masters

%

50

Score:

/ minute

Name




Subtraction to 6

Math Masters

%

50

Score:

/ minute

Name




Math Masters Name
All About 7
7=____ +3 = +1 =6+
/7=5+_ =2+ =0+___
7=___ +7 = +4
5 4
+ + 7 + + 2
7 7 7 7
3 0
+ 6 r * + 1
7 7 7 7
7 7 7 7
7 7 7 7
-5 -1 - 4 - 3



Math Masters Name

All About 8
= +3 8= +1 8=b+_
:6+_ 8=O+_ 8:2+_
= +7 8=__  +4 8=__  +8
0] 8
+ + 7 + + 2 +
8 8 8 8 8
4 1
+_ D r s + 3
8 8 8 8
8 8 8 8 8
8 8 8 8
-5 _ 1 _ 4 _ 3




Math Masters Name
All About 9
= +4 9= +2 9=6+__
O=7+____ 9=0+____ 9=9+__
= +1 9= +3 = +5
0O=8+
4 9 3
s + 6 + + 2 s
9 9 9 9 9
5 1 7
+ 8 + + + 0 +
9 9 9 9 9
9 9 9 9 9
-3 -7 -2 -0 -9
9 9 9 9 9
_ 6 -1 - 4 _ 8 _ 5



Math Masters Name 12

All About 10
10=___ +8 10=____+6 10=9+___
10=5+____ 10=2+___ 10=4+___
10=___ +7 10=___ +10 10=___ +9
10=0+____ 10=7+__
0] 8 6
+ + 7/ + + 10 + + b
10 10 10 10 10 10
1 4 2
+ 3 + + + 9 +
10 10 10 10 10
10 10 10 10 10 10
-6 -9 -1 - 10 -7 -0
10 10 10 10 10



Math Masters Addition to 10 13

2+3=__ 6+0=__ 5+4=__
9+0=__ 4+3=__ 5+2=_
4+1=__ 5+1=__ 2+H5=__
4+0=__ 5+4=__ 3+4=__
1+49=__ 9+1=_ 0+2=_
2+7=__ 6+3=_ 3+3=____
2+2=__ 1+4=__ 5+3=
7+l=__ 5+5= 6+4=_
1+8=_ 8+1=__ 1+7=__
1+43=__ 4+4=_ 2+6=__
2+4=__ 3+2=__ 4+5=
3+5=__ 3+6=_ 3+7=____
4+6=__ 7+2=_ 6+1=__
7+3=__ 2+8=_ 8+2=__
1+5=__ 7+0=__ 3+4=__
6+2=__ O+1=__ 10+0=__
2+4=_ 4+2=__

Name — /minute  Ocor¢ - — "




Math Masters

3+2=__
24+8=
7+0=
7+2=
1+4=__
5+5=
8+1=__
4+4=
B+2=
3+6=
5+ 4=
9+1=

O+1-=

4+ 2 =

6 +0-=

6+3=

2+1=

Name

Addition to 10 14
4+5=_ 244=___
8+2=__ 7+3=__
3+4=__ 1+5=_
6+1=__ 4+6=__
5+3=__ 2+2=___
6+4= 7+1=__
1+7=__ 1+8=__
2+6=__ 1+3=__
4+3=__ 9+0=__
3+7=____ 3+5=___
3+4=__ 4+0=__
0+2=____ 1+9=__
10+0=__ 6+2=__
5+1= 2+4=
5+4= 2+3=__
3+3=__ 2+7=__
2+5=

_ /minute > — %




Math Masters Addition to 10 15

1+3=_ 2+6=__ 4+4=___
2+2=__ 5+3=_ 1+4=-__
7+1=__ 6+4=_ 5+5=_
1+8=_ 1+7=__ 8+1=__
7+3=__ 8+2=__ 2+8=___
1+5=__ 3+4=__ 7+0=____
4+6=__ 6+1=__ 7+2=__
3+5=___ 3+7=____ 3+6=__
4+0=___ 3+4=__ 5+4=
1+49=___ 0+2=__ 9+1=
9+0=__ 4+3=__ 5+2=__
2+4=__ 4+5= 3+2=_
2+7=__ 3+3=_ 6+3=__
6+0=__ 2+b=-_ 2+1=__
6+2=__ 10+0=___ O+1=__
2+4=__ B+1=__ 4+2=_
2+3=__ 5+4=_

Name _/minute  Score o %
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Addition to 10
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10

%

50

Score:

/ minute

Name




17

Addition to 10
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10

%

50

Score:

/ minute
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Addition to 10

Math Masters

10

%

50

Score:

/ minute

Name




Math Masters Subtraction to 10 19

10-4-= 7-6= 8-3=
9-4:- 9-7-= 7-7-=

6-4=__ 7-1=__ 10-7=__
10-9=____ 5-1=__ 8 - 6=
6-5-= 9-1=__ 9-8=
8-0-= 5-3= 5-2=
9-9-= 10-2=__ 7-2=__
7-3= 6-6= 10-3=___
8-4-= 10-5=____ 4-3-=
9-5 = 10-10=_____ 7-4-=

6-1=__ 6-3= 8-1=

10-8=__ 7-0=___ 5-5=__
8-2=__ 9-2=___ 10-6=__
10-1=__ 7-5=__ 8-7=__
9-3=__ 9-0=__ 5- 4=
8- 8= 10-0=___ 9-6=

6-2= 8-5=

Score:
— %

/ minute
Name —/m 50 -
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7-3=___
6-1=__
10-8=___
8-2=___
10-9=____
8-0=__
6-4-
8-4-

90-90-=
10-4-=

9-5
9-6:
0-4-=

10-1=
8-8-=

Name

10-5-=

9-1=

10-2-=

7 -6-=

10-10=

8-5-=

9-7-=

9-0-=

7-5=

10 - O=

Subtraction to 10

10-3=

8-1=
5-5=

10-6=

8 - 6=

5-2=

10-7 =

4 -3 =

7 -2 =
8-3-=¢

6-2-=

7-7:=

8-7-=

20

/ minute

Score:
50

%o




Math Masters Subtraction to 10 21

9-1=__ 9-8= 6-5=
7-0=___ 5-5=__ 10-8=__
10-0=_____ 10-1=_____ 8-8=
6-6-= 10-3=___ 7-3=
6-3= 8-1= 6-1=
8-5= 6-2=__ 9-6=
9-2-= 10-6=____ 8-2-=
5b-1=__ 8-6=__ 10-9=__
5-3=___ 5-2=__ 8-0=__

7-1= 10-7-= 6-4-=

10-5= 4-3-= 8-4-

7-6= 8-3:= 10- 4=

10-2 = 7-2-= 9-9-=

10-10 = 7-4-= 9-5

9-7-= 7-7:= 9-4-

9-0-= 5-4= 9-3=

/-5= 8-7-=

Score:
— %

/ minute
Name —/m 50 -




Subtraction to 10
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10

10

10

10

10

10

10

10

10

10

10

%

50

Score:

/ minute

Name
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Subtraction to 10

Math Masters

10

10

10

10

10

10

10

10

10

10

10

%

50

Score:

/ minute

Name
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Subtraction to 10

Math Masters

10

10

10

10

10

10

10

10

10

10

10

%

50

Score:

/ minute

Name




Addition 11 to 18 23

11 12 13 14 15 16 17 18
9+2 9+3 9+4 9+5  9+6  9+7  9+8  9+9
8+3 8+4 8+5 8+6 8+7  8+8

7+4 7+5  T+6  T+7

6+5 6+6

Rule 1 - Always begin adding with the largest number. That cuts the number of prob-
lems in half!

Rule 2 - Pretend 9 is 10, add the 10 and subtract 1 - the ones number in the answer will
be one less than the number you are adding to the 9.

Rule 3 - Pretend 8 is 10, add the 10 and subtract 2 - the ones number in the answer will
be two less than the number you are adding to the 8.

Rule 4 - Memorize the doubles.

Rule 5 - If the numbers you are adding are just one apart, double the smaller number
andaddone. 7+8=7+7+1=15

How many questions are left? Just 7 + 4 and 7 + 5!

Subtraction 11 o0 18

Rule 1 - Remember there are two ways to subtract - take away and find the difference.
Rule 2 - When subtracting 9, subtract 10 and add 1.

Rule 3 - When subtracting 8, subtract 10 and add 2.

Rule 4 - Use the doubles to subtract... 16 - 8 = 8

That still leaves many questions.

For 15 - 8: draw a ladder with 3 rungs. The bottom rung would be labelled 8, the middle
10 and the top 15. The children know that it is 2 steps from 8 to 10, and 5 steps from 10
to15,s02+5=7.

One more: 12 - 7 ... bottom step 7, middle step 10, top step 12 ....3+2=5

Call this the 'in between' method - for 15-6= put 15 10 6 Thereisb5and 4 in
between = 9

Some students may see the difference better if the numbers are in order......

6 10 15, so they are adding 4 + 5.

Or..... you can make 14 into 10 + 4, then subtract from the 10 and add this to 4.



Math Masters Name 26
All About 11

11is 10 + 1.

Draw 11.

1= +8 1= +6 11=9+

11=5+_ 11=2+__ 11=4+__

1= +7 1= +3 1= +9

11:=10+ M=(6+__)+1 11=(8+__ )+1

11=0B+__)+1 11 = ( +2)+1 11 = ( +4)+1

M=(__ +7)+1 M=3+__ )+1 11=(9+__ )+1

10 11 10 11 10 11 10 11

9 - 9(- 5 - 5| - 2 2 |- 8 - 8

10 11 10 11 10 11 10 11

4 - 4| - 3 - 3| - 6 6 |- 7 - 7




Math Masters

3+5=

7+3=

1+H=

4+6=
2+9=__
7+1=__
1+8=__
3+8=
6+5=
7+4-
4+7=
1+9=_
6+2=
5+6 =
8+3=
4+7=

2+5H=

Name

Addition fo 11 27
3+6=__ 3+7=_
2+8=__ 8+2=__
5+6=_ 3+4=_
7+2=__ 6+1=__
9+2=__ 5+3=__
5+5=__ 6+4=___
8+1=__ 8+3=_
7+4=__ 2+6=_
4+3=__ 5+2=_
3+2=__ 4+5=_
5+4=__ 3+4=__
9+1=__ 9+2=__
3+8=__ 10+0=_
4+2= 5+1=__
6+5=__ 5+4=_
6+3=__ 3+3=__
2+9=__

__/ minute Score: 50 %




28

Addition to 11

Math Masters

%

50

Score:

/ minute

Name




Math Masters

6-6-=

11-4-
8-H-=

11-8=

10-5-=

9-2=__
11-2=__
11-9=_____
10-0=_____

10-2-=

7-6:=

10-10=

11-6=____
9-7-=
7-5=
11-9=__

Name

10-3=__
8 - 6=
11-7=___
10-7=____
11-4=__
10-6=____
9-8=__
5- 4=
8-0-=
7-2=
8-3-=
7-4=
8-1=__
11-3=__
11-7=___
8-7-=

11-5=

Subtraction to 11

-6=____
10-9=___
9-6=____
11-3=__
8-4=_
8-2=__
11-8=__
9-3=__
8-8-=
10-4=__
9-5

11-5=___
10-8=____
9-4-=

11-2=__

29

/ minute

Score:

50

%
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Subtraction to 11

Math Masters

11

11

10

10

11

11

11

11

10

11

11

10

10

11

10

11

11

11

10

11

10

10

11

11

10

11

%

50

Score:

/ minute

Name




Math Masters Name 31
All About 12

12 is 10 + 2.
Draw 12.
12=___+6 12=___+9 12=6+____
12:=54+ 2= +8 12=4+__
12=____ +7 12=___ +3 12=__ +10
12=10+ ____ 6+6-= 8+4-=
6+4)+___ = (8 + ) + =
5+7 = 8+4:= h+7 =
(5+5H)+ = (8 + ) + = (5 + ) + =
9+3-= 7+5= 9+3-=
O+ __ = G o= | ©Or_)r__ =
10 12 10 12 10 12 10 12
- 9 - 9 - 5 - 5 - 7 - 7 - 8 - 8
10 12 10 12 10 12
- 4 - 4 - 3 - 3 - 6 - 6




Math Masters

9+2=__
8+2=
7+5=
5+7 =
94+3-=
b+ 4=
1+8=__
4+8=_
3+7=
5+2=
4+5-=
3+4-=
6+6=
10+0=___
8+4=
5+ 4=
8+3=_

Name

Addition to 12 32
9+1=__ 6+6=
2+8=_ 7+3=
5+6= 8+4-=
7+2=__ 4+6=
9+2=__ 2+9-=
7+5=__ 3+9-=
2+9=__ 3+9=
7+4=__ 3+8=
3+6=_ 3+5=
9+3=__ 6+5-=
5+«+7=__ 7 +4-=
5+4= 4+7=
6+3=__ 4+7 =
3+8=_ 6+2-=
4+8=_ 5+6 =
6+5= 8+3=
8+1=_
_/minute |>c°re %

50
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Addition to 12
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%

50

Score:

/ minute

Name




Math Masters

9-4-=
11-2=

Name

11-7=

10-3=

12-5-=
11-5=

12-7 =

Subtraction to 12

9-7-=

7/7-5=

8-5=_
11-9=___
10-0=____
11-8=__
10-5=___

9-2-=

11- 2=

6-6:
11-4-=
10-2=

11-9-=

10-10 =

9-3-=

11-6=

34

/ minute

Score:

%o

50




35

Subtraction to 12
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11

10

11

10

12

11

N

12

11

12

10

11

11

i

11

10

11

12

10

11

10

12

i

12

11

11

11

10

10

N

11

11

10

11

10

11

12

i

%

50

Score:

/ minute

Name




Math Masters

Name

36

All About 13

13 is 10 + 3.
Draw 13.
13=____+6 13=__ +7 13=5+__
13=9+ 13=___ +8 13=4+__
10+ 3= 7+6= 8+5H=
(7+_ )+ = 8+ )+ -
6+7= 5+8-= 4+9=
(6 + )+ 3= (5 + ) + = (__+_)+3 =
4+9:= 9+4-= 7+6-=
(4+___)+3 = (__+D+___ = (_+3)+___ =
13 - 9 = 13 - 5= 13 - 7=
13 10 9 13 10 5 13 10 7
3 + 1 3 + 5 I
13-9=__ 13 -5=__ 13 -7=____
13 - 4 = 13 - 8 = 13 - 6 =
13 10 4 13 10 8 13 10 6
13- 4= 13 - 5= 13-6=




Math Masters

4 + 9=

4 +7 =

9+3-=

1+9=__
3+8=_
5+8=
5+6=
2+8=
6+7=
8+3=
2+8=
5+7 =
4+6=
5+ 6=
9+4=
8+4=

7/ +3=

Name

Addition to 13 37
2+9=__ 6+6=
7+3=___ 9+1=
3+6=_ 7+4=__
8+5=__ 7+6=__
6+5=__ 4+9=_
7+5=__ 3+49=_
4+9= 6+6=__
8+4=__ 5+8=_
7+6=__ 7+5=__
6+4=_ 3+7=__
4+47=___ 9+4=_
9+2=____ 5+5=_
9+3=__ 4+8=__
4+8=__ 6+7=__
8+b=_ 8+2=__
6+5=__ 6+3=__
7+6=__

_ /minute | >¢ore = %
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Addition to 13

Math Masters

%

50

Score:

/ minute

Name




Math Masters Subtraction to 13 39

13- 4=__ 10-0=__ 8-0=__
10-9=____ 1M-4=_ 8-6=
9-6=__ 8-5=__ M-7=____
11-3=__ 1-8=__ 13-8=__
12-4=__ 10-5=__ 1n-4=__
11-6=____ 11-2=__ 10-3=___
12-6=___ 13-7=____ 10-6=____
11-8=__ 7-6=____ 9-8=__
10-7=____ 11-9=__ 12-9=__
12-3 =__ 10-10=___ 12-7=___
12-8=__ 10-2=__ 12-5=___
10-4=__ 13-6=__ 8-3=_
13-5=__ 11-9=_ 11-5=___
11-5=__ 9-3=_ 13-9=_____
10-8=__ 11-6=__ 11-3=___
9-4-= 9-7-= 11-7=____

11-2 = 7-5=

Score:
— %

/ minute
Name —/m 50 -
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Math Masters

Name

All About 14

41

14 is 10 + 4.

Draw 14.
14=__ +6 14=__  +7 14=5+__
14=9+__ 14=_  +8

10 + 4 = 8+6 =

( + ) + =

7+7-= 6+8=

(7 +3)+ = ( + ) + =
5+9:= 9+5=

(5 + ) + = ( + ) + =
14 -9 = 14 - 5= 14 - 7=
14 10 9 4 10 5 4 10 7
4 + 1 4 + _ +
14-9=__ 14 - 5=__ 14 - 7=___
14 - 6 = 14 - 8 =
4 10 6 4 10 &

14 - 6= 14 -8=




Math Masters

9+5=
7+7=
5+b=
7+6=
4+9-=
6+8=
3+9=
6+6=
5+8=
7+5=
6+7 =
9+4-=
8+6=
4+8=
6+4=
8+2-=

7/ +3=

Name

Addition to 14 42
4+7=__ 8+3=__
7+3=_ 4+7=__
3+6=__ 9+3=__
8+b5=__ 8+6=__
6+5=__ 3+8=_
5+9= 4+9=_
7+5=__ 5+8=__
4+9=__ 5+6=__
8+4=__ 9+5=__
7+6=__ 6+7=__
4+8=__ 5+6=__
7+7=__ 6+8=__
5+9=-__ 5+7=__
9+3=__ 4+6=__
7+4=__ 3+47=_
8+5=__ 9+4=
4+5=

_ /minute |3%€ = %




43

Addition to 14

Math Masters

%

50

Score:

/ minute

Name




Math Masters Subtraction to 14 44

14-7=__ 11-2=__ 14-5=__
11-4=__ 10-9=__ 8- 6=__
12-6=__ 14-8=__ 14-6=__
8-5=__ 14-9=__ 1-7=___
11-8=__ 11-3=__ 10-7=____
10-5=__ 12-4=__ 11-4=__
13-6=__ 11-6=__ 10-3=____
13-7=___ 7-6=__ 10-6=__

11-2=__ 11-8=__ 9-8=___
12-7=__ 13-8=___ 12-9=__
10-10=__ 12-3 =__ 11-9=__
10-2=____ 12-8=__ 12-5=___
11-9=_ 13-5=___ 11-5=__
9-3=_ 11-5=__ 13-9=__
11-6=__ 10-8=__ 11-3=___
9-7-= 9-4-= 11-7=__

10-0-= 13-4-=

Score:
— %o

/ minute
Name —/m 50 -
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Math Masters

Name

All About 15

15is 10 + 5.

Draw 15.

15=6+___

15=9+___

46

6+9-=

10

( + )+ =15

7 +8=
(. )+

6+9-=

( + ) + =

+
1]

15 - 9 =
15 10 9
5 + 1
15-9=____

15 - 7=
5 10 7

15 - 7=___

15 - 5 =
15 10 5

15 - 5=




Math Masters

9+4-
6+9-=
9+3=
6+7 =
8+6=
3+8=
4+9-=
5+8 =
5+ 6=
9+5-=
8+3=
6+7 =
7+4-
5+7 =
4+6=
7+8=
8+7=

Name

Addition to 15 47
8+5=_ 8+2=
7+3=_ 7+7 =
3+6=_ 6+8=
7+6=__ 7+5=
8+5= 8+6=
8+7=_ 4+9-=
5+9=_ 6+8-=
7+5=__ 8+7=
6+9= 6+6=
8+4=_ 5+ 8=
7+7=_ 9+5=
9+6=_ 7+8=
4+7=__ 9+4-=
5+9=_ 7+6=
9+3=_ 4+8-=
9+6=__ 6+4-=
4+8=
_ /minute | >¢ore = %




48

Addition to 15

Math Masters

%

50

Score:

/ minute

Name




Math

Masters

11-3=
15 - 9= 9-7:=
14 -6 =

10-8=

14 - 8 =

12-5= 12 - 8 =

11-7-=

14-9-=

10-7=__ 11-3=__

11-4=

10-3-=

12-4-=

10-6=__ 12-6=__

9-8=

11-8-=

10-9=___ 13-4=__

12-7 = 12 -3 =

14-5= 11-2 =

11-5=

13-5=

13-9=___ 11-5=_

12-9-=

11-7-=

Name

13-8=
15-6=

11- 6=

Subtraction to 15

11-6=____
1-4=____
15-7=___
10-2=____
8-5-=
11-8=__
10-5=____
13-6=____
13-7=____
1-2=____
10-0=____
10-10=____
14-7=___
11-9=__
15-8=__
11-9=__

49

/ minute

Score:

50

%o
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Math Masters

Name

51

All About 16, 17 and 18

Draw 16 as 10 + 6

Draw 17 as 10 + 7

Draw 18 as 10 + 8

16=___ +8 16=7+___ 17= 9+
16 =9+ 17=___+8 18= 9+
8+8-= 7+9-=
(8 + ) + = ( + ) + =
9+7 = O+8=
( + ) + ( + ) + =
9+9= 8+9=
( + ) + (7"'1)"'_:
17 - 9 = 16 - 7= 18 - 9=
17 10 9 16 10 7 8 10 9
7 + 1 6 + +
17-9=____ 16 - 7=___ 18 - 9=
16 - 8 = 16 - 9 = 17 - 8 =
16 10 8 16 10 9 17 10 8
16 -8:= 16 - 9= 17 - 8=___




Math Masters Addition to 18 52

9+5=__ 7+3=__ 7+7=__
8+8=____ 3+9=__ 3+5=_
7+4=___ 8+6=_ 2+8=_
2+9=__ 5+7=_ 6+5=
3+3=____ 3+7=__ 8+9=_
9+6=____ 9+5=__ 7+9=
7+6=____ 9+9=_ 8+3=_
8+9=___ 5+4=_ 9+8=_
2+7=____ B+b=__ 2+5=
4+7=__ 3+8=_ 7+5=
5+8=___ 6+7=__ 6+6=_
3+4=__ 9+4=__ 8+4=_
8+7=____ 6+9=__ 6+8=
9+2=__ 8+6=__ 7+7=__
4+9=___ O+7=__ 5+9=_
6+4=__ 9+3=_ 4+8=__
8+5=_ 7+8=_
Name _ /minute |3%€ - | —"




Math Masters Addition to 18 53

8+6=__ 9+2=__ r+7=____
9+4-=-__ 3+4=_ 8+4=__
3+9=_ 8+8=__ 3+b=__
8+6=__ 7+4=____ 2+8=__
5+7=__ 2+9=__ 6+5=__
3+7=__ 3+3=_ 8+9=__
9+5=_ 9+6=__ 7+9=___
9+9=__ 7+6=__ 8+3=__
5+4=__ 8+9=__ 9+8=__
B+6=__ 2+7=__ 2+5=__
3+8=__ 4+7=__ 7+5=__
7+8=__ 8+5=_ 4+8=_
7+3=__ 9+5=__ 7+7=____
6+9=__ 8+7=__ 6+8=__
6+7=__ 5+8=_ 6+6=__
9O+7=____ 4+9=_ 5+9=
9+3=__ 6+4=
Name _ /minute |3%€ - | —"




Math Masters

6+6 =
8+4 -
3+5=
2+8=
6+5-=
8+3=
8+9-=
7+9-=
8+6=
9+8=
2+5=
4+8-=
7+7=
6+8 =
7+5=
5+9 =

7 +7=

Name

Addition to 18 54
5+8=_ 6+7 =
3+4=_ 9+4-=
8+8=__ 3+9=
7+4=_ 8+6=
2+9= 5+7 =
7+6= 9+9=
3+3=__ 3+7=
9+6=_ 9+5=
6+4= 9+3=
8+9=__ 5+4-=
2+7=__ 5+6 =
8+5=_ 7+8:=
9+H5=__ 7+3=
8+7=__ 6+9 =
4+7=__ 3+8=
4+9= 9+7=
9+2=__

__ /minufe  [>¢ = | —%




Math Masters

2+7=__
3+4-=
8+8-=
5+8-=
2+9-=
7+6-=
9+2=
3+3=
9+ 6=
6+4-=
8+9-=
8+5=
9+5-=
8+7=
4+7=
4+9-=
7+4-=

Name

Addition to 18 55
2+b=__ B+6=__
8+4=__ 9+4=__
3+5=__ 3+9=___
6+6=__ 6+7=___
6+5=_ 5+7=__
8+3=__ 9+9=__
7+7=__ 8+6=__
8+9=__ 3+7=__
7+9=__ 9+5=__
8+6=__ 9+3=_
9+8=__ 5+4=_
4+8= 7+8=__
7+7=____ 7+3=__
6+8=__ 6+9=__
7+5=__ 3+8=___
5+9=__ 9+7=___
2+8=_

__ /minute |°cOr€ o | —"%




56

Addition to 18

Math Masters

%

50

Score:

/ minute

Name




57

Addition to 18

Math Masters

%

50

Score:

/ minute

Name




58

Addition to 18

Math Masters

%

50

Score:

/ minute

Name




59

Addition to 18

Math Masters

%

50

Score:

/ minute

Name




60

Addition to 18

Math Masters

%

50

Score:

/ minute

Name




61

Addition to 18

Math Masters

%

50

Score:

/ minute

Name




Math Masters Subtraction to 18 62

9-3=____ 11-4=__ 8-6=_
10-7=___ 14-9=__ 17-8=____
15-8=___ 12-9= 12-5=

12-4=__ 10-8 = 10-3 =

11-5=__ 16 -7 = 14-5=

14-7=__ 11-8=_ 11-3=__
13-4=__ 10-1=__ 13-5=___
10-4=__ 17-9=__ 11-6=___
12-7=__ 11-2=__ 15-7=____
10-2=__ 13-8=___ 12-8=__
13-7=____ 14-6=__ 10-6=____
16-9=__ 12-3 =__ 18-9=__
18-9=__ 9-2-= 11-9=____

9-5=-__ 12 -6 = 14 - 8 =
10-9= 15-9= 16 - 8 =
15 -6 = 10-5= 13-9=

11-7= 13-6-=

Score:
— %

/ minute
Name —/m 50 -




Math Masters Subtraction to 18 63

18- 9=__ 12-3 =__ 16-9=___
11-6=__ 17-9=__ 10-4-=
17-8=__ 14-9=__ 10 - 7=
12-5=__ 12-9:= 15-8=
10-3=__ 10-8=__ 12-4=-__
14-5=__ 16 -7 = 11-5=__
11-3=__ 11-8=__ 14-7=__
13-5=___ 10-1=__ 13-4=___
8-6-= 11-4=____ 9-3=

15-7=__ 11-2=__ 12-7=____
10-6=__ 14- 6=__ 13-7=____
10-2=____ 13-6=____ 11-7=___
11-9=__ 9-2=_ 18-9=____
14-8=__ 12-6=__ 9-5=__
16-8=__ 15-9= 10-9=____
13-9=____ 10-5= 15-6=___
12-8=__ 13-8=

Score:
— %o

/ minute
Name —/m 50 -




Math Masters

12-6=____
17- 9=_____
13-6=____
12-9=___

12- 3 =

10-8=__
16-7=____
11-8=__
10-1=__
M-4=__
n-2=__
14- 6=____
14-9=__
9-2=_
13-8=____
15-9=__
10-5=____

Name

14-8=__
-6=___
17-8=__
12-5=____
18- 9=____
10-3=__
14-5=__
11-3=__
13-5=____
8-6=__
15-7=__
10-6=____
10-2=__
1-9=__
12- 8=____
16-8=_
13-9=____

Subtraction to 18

64
9-5=__
10-4=__
10 - 7=

15 - 8 =

16 -9 =

12-4=

11-5=__
14-7=____
13-4=__
9-3=__
12-7=____
13-7=____
M-7=___
18-9=__
5-6=____
10-9=__

/ minute

%o

50




Math Masters

10-4=__
10-8=__
15-8=__
16-9=__
9-5=__
15-6=__
11-5=__
14-7=__
13-4=__
9-3=__
12-7=___
9-2=__
11-7=___
18-9=__
12-3=___
10-9=__

12-4-=

Name

-6=___
13-9=____
12-5=____
18- 9=____
14-8=__
13-7=____
14-5=__
11-3=__
13-5=___
8-6=__
15-7=____
10-6=____
10-2=__
11-9=__

17 -8 =
16 - 8 =

10- 3=

Subtraction to 18

17- 9=

10-5=___
12-9=____
10- 7= _____
12-6=____
13-8=____
16-7=____
11-8=_____
10-1=__
11-4=___

11- 2=

14- 6=

13-6=

12- 8=

14-9-=
15-9-=

65

/ minute

Score:

50

%o
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Multiplication

1. Teach the students what the equations mean: 3 x 4 means 3 fours, 4 x 3 means 4
threes.

2. Make sure they understand that reversing the numbers gives the same answer.

3. Teach the x 2 equations, and the reverse operations. As the students can count by
2s this should be easy.

4. Teach the x 5 equations and the reverse operations. As the students can count by
5s, this also should be easy.

5. Teach skip counting by 3 to 30 and by 4 to 40.

6. Relate the 3 and 4 times tables to the skip counting. Memorize the more difficult
ones-6x3,7x3,8x3..and6x4,7x4,8x4

7. Teach the x 9 trick...... if there is a 9 in a question - the first number in the answer
will be one less than the number you are multiplying by 9, and the two numbers in
the answer will add up to 9. So when multiplying 6 x 9, the first number in the
answer is 5 (one less than the 6) and the second number will be 4 because 5 + 4 =
9...... b4l Practice this until the children can do it really quickly every time they
see a 9 in a question.

8. Teach these three doubles.... 6 x 6, 7 x 7 and 8 x 8 and memorize the answers.

9. That leaves only three questions to learn! If the children memorize the answers to
6 x7,6x8,and 7 x 8 - they will know all the times tables to 9.

Here is another x 9 trick! Lay your hands out on the desk in front of you. Pretend
your fingers (and thumbs) are numbered 1 to 10, left to right. Now when you get a 9
question, put under the finger of the number you are multiplying by 9. Then the answer
is the number of fingers on either side of this finger. For example, if you are doing
4 x 9, put under the left hand pointer (the 4th finger). There are 3 fingers left up on
the left and 6 on the right..... 36.

The ‘can you count’ trick is fun, too. When multiplying 3 x 4, the answer is 12....
count 12...3 4. The same thing happens with 7 x 8 = 56 count 5 6 ..... 7 8.

The times tables with a 4 in the question are double-doubles! Do x 2, twice. 4 x 6
isthesameas2x6+2x6...12 + 12.
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2x4=__ 4x4=_ 5x2=__
1x2=__ 3x4=-__ 3x1=__
3x2=___ 2x2=___ 2x5=__
1x0=__ 5x3=____ 5x5=__
5x4=___ 2x5=__ 4x1=_
3x3=____ 3x2=____ 2x4=__
1x4=__ Ox4=__ 4x3=____
5x4=__ I1x3=__ Ix1=__
4x4=__ 4x3=__ 4xb5=__
3x4=__ 5xb =__ 3x0=__
Ox1=__ Ox0=___ 4x2=__
2x2=___ 2x3=__ 3x5=__
Ox3=__ 5x0=__ 4x5=__
4x2=__ 2x1=__ 3x3=___
5x3=____ Ix5=___ 4x4=-__
bx2=__ 2x3=__ Bxl=__
4x0=__ 3xb5=__

Name __ /minute  |°cOr€ 0 %
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5x5 =__ 3x4=__ 3x0=___
3x4=__ I1x2=___ 3x1=__
2x2=__ 3x2=__ 2xb5=___
5x3=__ 1x0=__ 5x5=__
Ox4=__ I1x4=__ 4x3=____
2xb=__ 5x4=__ 4x1=__
3x2=__ 3x3=___ 2x4=__
4x4=__ 2x4=__ bx2=__
1x3=__ 5x4=__ I1x1=__
4x3=__ 4x4=___ 4xb5=__
2xl=__ 4x2=___ 3x3=__
Ox0=__ Ox1=__ 4x2=___
2x3=__ 2x2=__ 3xb5=__
5x0=__ Ox3=___ 4x5=__
3xb=__ 4x0=__ Bxl=_
1x5=__ bx3=__ 4x4=__
2x3=____ Bx2=__

Name __ /minute  |°cOr€ 0 %
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4 x 3= Ox4- 1x4-=
3x1= 3x4-= 1x2-=
2xbH-= 2 X2-= 3x2=
hxbH:= hx3:= 1x0-=

4 x1-= 2xb-= Bbx4-=
3x0-= bxb = 3x4-=
5x2=____ 4x4=__ 2x4=___
1x1-= 1x3= Bbx4-:=

4 x5 = 4 x3-= 4 x4-=
3x3-= 2x3-= Bbx2-=

4 x2-= Ox0-= Ox1:=
3xbH-= 2 X 3= 2X2-=

4 x5 = 5x0-= Ox 3=
3x3= 2x1= 4 x 2=
bx1l-= 3xb-= 4x0-=
4x4-= 1x5-= 5x 3=
2x4=__ 3x2=__

Name __/ minute Score: ) I -




Math Masters

3x4-=-
2 X2-=
bx3=

2x1=

4x4=-__
1x3=__
3x2=__
4x 3=

2x3-=

O0x0-=

2X3=__
bx0=__
Ox4=-__
3xb=__
I1x5=__

2xb-=

Name

107

Multiplication to 25
3x1=__ I1x2=__
2x5=__ 3x2=___
Bxb=__ 1x0=__
3x3=____ 4x2=__
3x0=__ 3x4=__
bx2=__ 2x4=__
I1x1=__ Bx4=__
2x4=__ 3x3=__
4xb5=__ 4x4=__
5x4=__ Bx2=__
4x2=___ Ox1=__
3x5=__ 2x2=__
4x5=__ Ox3=___
4x3=__ 1x4=__
Bx1=__ 4x0=___
4x4=-_ 5x3=__
4x1=__

_ /minute |>°"¢ %

50




Math Masters

20+ 5=
6 +2-=
2b+b=

10+5=

Division to 25

15+ 3=
16 + 4 =
15+5=

4 =2 =

15+ 5=

9+3=_
6+2=__
12+4=__
g+2=_
16 +4=__
10+2=___
0+0=__
4+2=
O+3=__

4 = =
1=1=

111

/ minute Score:

50

%
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